	[image: image22.png]cbseﬁguess




	http://www.cbseguess.com/



Sample Paper – 2009

Class – X

Subject – MATHEMATICS
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General Instructions:

1. All questions are compulsory.

2. The question  paper consists of 30 questions divided  into four sections – A, B, C and  D. Section  A  contains  10 questions of  1  mark  each, Section  B  is of  5 questions of  2 marks  each, Section  C  is of 10 questions of 3 marks each  and section  D is  of  5 questions of 6 marks each. 

3. In question on construction, the drawing should be neat and exactly as per the given measurements.
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SECTION – A

1. If sin ( + cos ( = 
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cos(90o - (), find cot (.
2. In adjoining figure ∆PQR ~ ∆PST.  ST = 
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QR. 
Find area(∆PST) if area(∆PQR) = 36 cm2.
3. [image: image25.png]2



If 49.123456789 is expressed in the form of 
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p

, what can you say about the prime factors of q?
4. Give an example of each of the polynomials p(x), g(x), q(x) and r(x) which satisfies the division lemma p(x) = g(x).q(x) + r(x) and deg p(x) = deg q(x).
5. Solve by factorization: x(3x - 1) = 4.
6. The sum of first n terms of an A.P. is n2 + 1, find its nth term.
7. In adjoining figure, AQ, AR and BC are tangents to the circle at Q, R and P respectively. If AR = 8 cm, find the perimeter of ∆ABC.

8. The sum of the circumferences of two circles is 110 cm. If the diameter of one of them is 28 cm, what is diameter of the other circle?
9.  What is the median class for the following data?
	Class interval
	10 – 20
	20 – 30
	30 – 40
	40 – 50
	50 – 60

	Frequency
	4
	8
	2
	5
	1


10. Two dice are rolled simultaneously. Find the probability of getting sum of the numbers less than 12.
SECTION – B

11. Solve for x and y : 
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12. In the adjoining figure, AB((DC. Find the value of x if OA = 3x - 19, OB = x - 4, OC = x – 3 and OD = 4.
13. A(-1, 0), B(1, 2), C(5, -2) are the three vertices of a rectangle ABCD. Find the coordinates of the vertex D.
14. If cos A =
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, Evaluate : sin A (1 – tan A)
15. A letter is chosen at random from the English alphabets. Find the probability that:
 
(i) It is a vowel

(ii) A letter of the word ‘ENGLISH’
SECTION – C

16. Prove that 
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is an irrational number.
17. Find all the zeros of the polynomial
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, if two of its zeros are 
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Find the polynomial of least degree which should be subtracted from the polynomial 
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so that it is exactly divisible by 
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18. A railway half-ticket costs half the full fare but the reservation charges are the same of a half-ticket as on a full-ticket. One reserved first class ticket from station A to station B costs Rs 2125. Also, one reserved first class ticket and one reserved half first class ticket from station A to station B costs Rs 3200. Find the full fare from station A to station B.
19. A sum of Rs 700 is to be used to give 7 cash prizes to students of a school for their overall academic performance. If each prize is Rs 20 less than its preceding prize, find the value of each of the prizes.
20. If all the sides of a parallelogram touch a circle, show that the parallelogram is a rhombus.
21. Find the value of k for which the points (8, 1), (k, -4) and (2, -5) are collinear.
22. Find the coordinates of the point P on the line segment joining A(5, 4) and B(11, -2), which is at a distance of 2 units from A and 10 units from B.
23. Prove that: 
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OR

If sin
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 + cos
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  = 
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cos, show that cos
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  - sin
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24. Construct a ∆ABC in which CA = 6 cm, AB = 5 cm and (BAC = 45o, then construct a triangle similar to the given triangle whose sides are
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of the corresponding sides of the ∆ABC.
25. In adjoining figure, ABCD is a square of side 10 cm; find the area of shaded region. (Take ( = 3.14)
SECTION - D

26. Some students arranged a picnic. The budget for food was Rs 240. Because four students of the group failed to go, the cost of food to each student got increased by Rs 5. How many students went for the picnic? 
OR

Two women and five men can together finish a work in 4 days, while three women and six men can finish the same work in 3 days. Find the time taken by one woman alone to finish the work, and also the time taken by one man alone,



27. A crow is sitting on the top of a house. The house is 40 m high. The angle of elevation of the crow as seen from a point on the ground is 45o. The crow flies away horizontally and remains at a constant height. After 3 seconds the angle of elevation of the crow from the point of observation becomes 30o. Find the speed of the crow.
OR

A parachutist is descending vertically. At a certain height, his angle of elevation from a point on the ground is 60o and after his descending 600 m further, the angle of elevation becomes 45o at the same point of observation. Find the distance of the point of observation from the place where the parachutist descends.
28. A container, open from the top is made up of a metal sheet, is in the form of a frustum of a cone
of height 16 cm with radii of its lower and upper ends as 8 cm and 20 cm respectively. Find the cost of milk which can completely fill the container, at the rate of Rs 20 per litre. Also find the cost of metal sheet used to make the container, if it costs Rs 8 per dm2.
29. The following data gives the information on the observed life times (in hours) of 225 electrical components:
	Life times (in hr)
	0 - 20
	20 - 40
	40 - 60
	60 - 80
	80 - 100
	100 - 120

	No. of components
	10
	35
	52
	61
	38
	29


         Determine the mean, median and modal life time of the components.
30. If a line is drawn parallel to one side of a triangle, prove that the other two sides are divided in the same ratio. 
Using the above theorem, prove that the diagonals of a trapezium cut each other in the same ratio.
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